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(i1)

(iii)

(iv)

(v)

AT ST B W foh 39 TH-99 § Hfgd I8 23 § |
Please check that this question paper contains 23 printed pages.

FUAT = A foh 30 I-9T H 38T B |
Please check that this question paper contains 38 questions.
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fod |

Q.P. Code given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.
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ford |

Please write down the serial number of the question in the
answer-book before attempting it.
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10.15 9 foram ST@m | 10.15 99 § 10.30 S doh B had YT il Tl T 39
3rafy o SNH o IT-YRhT T hIg IR & fora |

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on the
answer-book during this period.
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T 3397 :
el 39T &1 Sga arae] & igq 3R 371 T & 9T Sy
(i) 39 397-99 4 38 T & | @t 577 AT & |

(i) TEIH-TTGIT G@USI H [Q9Giad 86— &, @, T, 90 & |

(i) @UE & H Y97 &I 18 18 % aglasedid (MCQ) @7 97 G&IT 19 TF 20
STfIFHIT T db HTERT 1 37 & J97 3 |

(iv) TS W H o7 q&IT21 @ 25 7% 3717 TG-ITIT (VSA) FHR & 2 37l & J97 & |

(v) WU TH J97 G&I7 26 T 31 T TG-FTHIT (SA) TR & 3 37H] & J97 8 |
(vi) TV T H Y97 G&I732 G 35 T -39 (LA) FPR F 5 bl & Fo7 8 |

(vii) TUE & 4 J97 G&IT 36 T 38 TF JH{U I7II7 STIIRT 4 3F] & J97 & | Jcdsh
YR 37eTTT H 3TaRF [dhcT 2 37H1 & J97 7 1297 77 3/

(viii) Y97-97 § GHF Aehcq 757 1297 71 & | TG, @Ue @ & 2 Yl §, @ve T & 2 Yol
4, @Ug g &2 Yo 7 a9 @8 & & 3 Y99 8 aR® ladhcq &1 Jiaer 1531 77
g1

(ix) & STGvIH &1 L= IHIadl G975T | & avq® & 1 = % Aferg, a7 e
7 fa97 71377 8 |

(x)  Dopeie & ITINT a8 |

@ug <h

39 @IS H Sglahedid 97 &, 974 Yl 394 1 3% H1 & | 20x1=20

1. A W @S Th US hl BT 7 m @& 7, 99 gI HI IAAW 45° 7 | Ug H

FATS 2
A) 73 m (B) %ﬁ m
C) Tm (D) 35m
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(it)
(ii1)

(iv)

(v)

(vi)

(vit)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are Multiple Choice Questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are Very Short Answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are Short Answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are Long Answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

: : 22 : :
Draw neat diagrams wherever required. Take 1 = - wherever required, if not

stated.

Use of calculator is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each. 20x1=20

1.

A tree casts a shadow 7 m long on the ground, when the angle of
elevation of the Sun is 45°. The height of the tree is :

A) 73 m (B) %ﬁm

(C) Tm (D) 835m

15-430/5/2 P.T.O.
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12 cm T3 911 Tk 9 <hl Teh =9 <l @15 10m cm g | I8 =19 I o ohg T
N HEIT HIU ARG A B, 98 B

(A 120° B) 6°
(C) 75° (D)  150°

@ T aefd §, By ABC H, DE || BC 8 | 9t AD = 2x cm,
AE=(x+2)cm,DB=4cm,EC=30m%,T‘ﬁxwrﬂ_—[%:
A

2xﬂ{+ 2) cm
D > E
4 cm/ &cm

B C

A 4

A 3 B) 2
(C) 6 (D) 4

AT 40 3T 30 % folu HCF x LCM @ :

A) 12 (B) 120
(C) 1200 (D) 40

Jg fem mn 2 76 AABC~ADEF. 3¢ L A=55° /E=45°%, A1 LC®?:
(A)  80° B) 90°
(C) 55° (D) 45°

Ife Tk I I @ BHSIRA o o= 1 BV 130° 7, A1 3 AT o TR R &1
i @raTt & ff 9 1 R R

(A)  50° (B) 60°
C) 90° (D)  130°

15-430/5/2
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2. The length of an arc of a circle with radius 12 cm is 10n cm. The central

angle subtended by this arc at the centre, is :
(A)  120° (B) 6°
(C) 75° (D) 150°

3. In the given figure, in A ABC, DE || BC. If AD = 2x cm, AE = (x + 2) cm,
DB =4 cm, EC = 3 cm, then the value of x is :

A
2xX cm (x+2) ecm
D > E
4 Cm/ &cm
B g C
(A 3 B) 2
C) 6 (D) 4

4, HCF x LCM for the numbers 40 and 30 is :
(A 12 B) 120
(C) 1200 (D) 40

5. It is given that A ABC ~A DEF. If Z A =55°, Z/ E =45°, then £ C is :
(A) 80° (B) 90°
(C) 55° (D) 45°

6. If the angle between the two radii of a circle is 130°, then the angle

between the tangents at the ends of these radii, is :
(A) 50° (B) 60°
C) 90° (D) 130°

15-430/5/2 P.T.O.
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11.
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[= 64

ﬂﬁsin26=%%,?ﬁtanzewtﬂq%:

B) 3

(D) 1

1
A =
W5
< 0

Ffe foheal JTTrel o SgAh I WIETh H1 AL 24 7, 1 31 3Tkl o HIETH
3R HTET T TR B

A 8 B) 12

(C) 24 (D) 34

T 9, et ufifr 22 em B, % IgAT (quadrant) T &6 2
(A) % cm? (B) % cm?

(©) % ¢m? (D) % cm?

fagatl A(- 2, 8) 3R B(- 6, 4) ! THAH a1 {@Rae AB 1 He4-[03 @
A (2,6) B)  (-4,12)
(C) (-4,6) (D) (4,-6)

g O Il g W oTel foig A § Q T9Ri3@d AP 3T AQ TR 90° % i T
I S 7 | AR Ik T hil SR 2 em 7, A I B BT R

(A) 4cm (B) 2cm

(C) 2V2 em (D) 1cm

15-430/5/2
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If sin? 0 = %, then the value of tan? 0 is:

B) 3

(D) 1

1
A =
W5
< 0

If the difference of mode and median of a data is 24, then the difference of

median and mean of the same data is :
(A) 8 B 12
C) 24 (D) 34

The area of a quadrant of a circle whose circumference is 22 cm, is :
11 11

(A) T cm? (B) ) cm?
©) % cm? (D) % em?

The mid-point of the line segment AB joining A(- 2, 8) and B(- 6, 4) is :
A  (2,6) B) (-4,12)

(C) (-4,6) (D) (4,-6)

AP and AQ are tangents drawn from an external point A to a circle with

centre O and inclined to each other at an angle of 90°. If the length of
each tangent is 2 cm, then the radius of the circle is :

(A) (B) 2cm

(C) (D) 1ecm



12.

13.

14.

15.

16.

17.

[0 45
[Op ]

fige TRt I 2kx + 5y = 7, 6x+"5y=11wérom@3:®?ﬂ€r€a@m,
afq

(A) k%3 B) k#-3
1 1
C) k;tg (D) kq&—g

Ife x Teh Ul HE&AT 7, A1 x h Tohd WA i BIeHt 8¥ |H 31 T TUTT BIaT 8 2
(A) 6 (B) 4
< 2 (D) 0

et

cot2 0 cos2 0

A 1 B) 5
C -5 D) 0

Teama gHfiertor x2 — 4x + 3 = 0 1 faIfIFe (discriminant) 2 :
(A) 28 (B) -8

C 4 (D) 2

T I H 4 A g IR 2 Aol g & | T g Ageedn 39 O 1, fom aw A
<@, fepreft STt 3 | dieht Tig ate 8 h iRkt = ? 2

1 2
VI ® 3
© = ™ 1

3
foama Tl x2 + 3x+2=0 F A & :

@A -1,-2 B 1,2
© 1,-2 D) -1,2

15-430/5/2
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12. The pair of linear equations 2kx + 5y = 7, 6x + 5y = 11 have a unique

solution, if

(A k%3 B) k#-3
1 1
(C) k;tg (D) ki—g

13. Ifxis a whole number, then 8% ends with an even digit, except for which

value of x ?

(A) 6 B 4

Cc) 2 D) o
14. [cotge _ 5ej is equal to s

A 1 B) 5

C) -5 (D) 0

15. The discriminant of the quadratic equation x2—4x+3 =0 is:
(A) 28 (B) -8
Cc) 4 D) 2

16. A bag has 4 red balls and 2 yellow balls. A ball is drawn at random from
the bag without looking into the bag. What is the probability of getting a

yellow ball ?

1 9
(A) 5 (B) 3
(©) % D 1

17.  The roots of the quadratic equation x2 + 8x + 2 =0, are :
A -1,-2 B 1,2
C© 1,-2 D) -1,2

15-430/5/2 P.T.O.



18. 882 1 TSI UHEEA ¢ :
(A)  22x32x7 B) 23x3x7?

(C) 2x32x72 (D) 22x33x7

J97 G&IT 19 3K 20 3FIT TF d& STRT 97 & | & %97 170 70 & 577 v &
STYFIT (A) T TR ® 7% (R) GRT 37 391 7797 & | 57 J971 & @& IR A4 157
77 gl (A), (B), (C) 3R (D) H & F7a g |

(A)  SAMTFHAT (A) 3T % (R) gHT T& & R o (R), AWHheT (A) T T
ST T 8 |

(B) MM (A) 3R T (R) GHI T&l &, g e (R), A (A) i &t
T g1 Ll 3 |

(C) 3fyehed (A) U&l 8, Tg Toh (R) T & |

(D)  3freheH (A) Terd B, 0 b (R) T8 B |

19. IUHIT(A): TAFR I 5,1,-3,—7 ... hl 99 A< 47 |

% (R) : AR A a;, ag, Az .., a, Bl 6 F<R UH B B
d=an—an_1ﬁ|

20. 3BT (A): Teh Ul hehd W, HEIAT 8 U B hl TTRIehal I (0) B |

7% (R) : T TEE HeAT hl TRhd1 I (0) Bt 7 |

15-430/5/2 Page 10
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18. Prime factorisation of 882 is :
(A 22x32x7 (B) 23x3x72
(C) 2x3%2x72 (D) 22x33x7

Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),

(C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : Common difference of the AP. 5,1,-3,—-7 ....1is 4.

Reason (R): Common difference of the A.P. a,, a,, a5 ...., a, is obtained

byd=a,—a,_;.

20. Assertion (A) : The probability of getting number 8 on rolling a die is

zero (0).

Reason (R): The probability of an impossible event is zero (0).

15-430/5/2 Page 11 P.T.O.
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LCLCRC
57 GUE F 37lq TG-IRI% (VSA) FHR & J97 &, o798 Je3ieh & 2 37 & | 5x2=10
21. aﬁ%zrmaﬁﬂww;;hkx—%:owww é 8, 1 k T M I IS |
22.  tan? 30° — tan? 60° + cosec? 45° T HH 1A hIfVT |

23. Th fag A ¥, S TH 91 % g ¥ 10 cm G W B, I W Wi T8 Toid@r
TER 6 cm @ | I s AT A1 hINT |

24. (a) IR o, pTgETd 9898 2x2 + Tx + 5% IR &, Al o + 2 + af H HH
1A hIfT |

AT

(b) e fgumd sg9g 6x2 + 37x — (p — 2) 1 Tk Y, UL [ 1 GoshH
2, @ p 1 HH 1@ AT |

25. (a) 98 IMUE W@ i fEw fa9g (38, y), Fgat (- 2, — 5) 3R (6, 3) =l
e ot TarEs &t fawfsa a2 | y o1 o ot 3 il

HAYAT

(b) y-31& W 39 fog = F@ HNC I fogati A6, 5) 3K B(- 4, 3) & ¥0E
RURIE

15-430/5/2 Page 12
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SECTION B

This section comprises Very Short Answer (VSA) type questions of 2 marks
each. 5x2=10

21. If % is a root of the quadratic equation x2 + kx — % = 0, then find the

value of k.
22. Evaluate : tan? 30° — tan? 60° + cosec? 45°

23. The length of a tangent drawn to a circle from a point A, at a distance of

10 cm from the centre of the circle, is 6 cm. Find the radius of the circle.

24. (a) If o, P are zeroes of the quadratic polynomial 2x2 + 7x + 5, then

find the value of o2 + p2 + apf.

OR

(b)  If one zero of the quadratic polynomial 6x2 + 37x — (p — 2) is

reciprocal of the other, then find the value of p.

25. (a) Find the ratio in which the point (3, y), divides the line segment
joining the points (- 2, — 5) and (6, 3). Also, find the value of y.

OR

(b)  Find a point on y-axis which is equidistant from the points A(6, 5)
and B(— 4, 3).

15-430/5/2 Page 13 P.T.O.
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WUE T
39 GUE § TY-FTHIT (SA) FHR & F97 &, 1978 Jcd% & 3 3% 3 | 6x3=18
26. (a) Tag Fifvu fp foret g0 & dfora TR Iqys FH=gyS BT 2 |
AT
(b) Tag Hifsg o forell smar foig & 90 @ @i & wwid@stt i el
SR Bl 8 |
27. (a) 20 m Y3 91 Toh GHETE FYSTHR HGM % Ueh 4 T Teh HIg ! 14 m
et T T 97y oI T 2 | A % 3T YT Rl &% [ shitog S
ST =R 7| Tl 2 |
AT
(b) TH TS I e H g5 H TaE 14 cm 7 | 39 fiFe A g5 g
8:00 am 3T 8:05 am o S & 99I H I=Id &% A hIFT |
28. famgall A5, — 3) 3R B(- 4, 3) &l WA acl [WES &l FH-BWING HH o
forgatt o fagemes 3ma il |
29, fig Ay % 3 - 25 & iy dear 7, afe foor w2 % V5 @
SNET G 2 |
30. ﬁ?@@ﬁ?%(cosec@—sine) (sec O —cos 0) = 1
tan O + cot O
31. fgumd ogug 6x2 — 7Tx — 3 % I 1A hIWC 3T I[Aehi AT FGIG o TUIRI

o= & g9 &l goar I = i |

15-430/5/2 Page 14
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SECTION C

This section comprises Short Answer (SA) type questions of 3 marks each. 6x3=18
26. (a) Prove that the parallelogram circumscribing a circle is a rhombus.
OR

(b)  Prove that the lengths of the tangents drawn from an external

point to a circle are equal.

27. (a) A horse is tied with a 14 m long rope at one corner of an
equilateral triangular field having side 20 m. Find the area of the

field where the horse cannot graze.

OR

(b)  The length of the minute hand of a clock is 14 cm. Find the area
swept by the minute hand between 8:00 am and 8:05 am.

28. Find the coordinates of the points of trisection of the line segment joining

the points A(5, — 3) and B(- 4, 3).

29. Prove that 3-2+5 is an irrational number, given that /5 is an

irrational number.

1
tan 0 + cot 0

30. Prove that: (cosec O —sin 0) (sec 0 — cos 0) =

31. Find the zeroes of the quadratic polynomial 6x2 — 7x — 3 and verify the

relationship between the zeroes and the coefficients of the polynomial.

15-430/5/2 Page 15 P.T.O.
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Qg g
39 GUS H -3TIT (LA) YR & I97 &, 578 I3 & 5 37% & / 4x5=20

32. Af us firg ¥ aiw § 2 Se fE Sw aur & G mﬁgrm,aﬁagﬁm%a

w%laﬁmﬁﬁzammﬁﬁlmm,ﬁag%mw%|ﬁq?>r
1 HIT |

33. TAmfcifigd @rofl 4 U a9 § U SEudrel H Wl g¢ URET i 31 & 3ishs QU
T g

I (It H) 5-15 | 15-25 | 25-35 | 3545|4555 | 55— 65

Ui <6t g 6 11 21 23 14 5

3TYh (RS 1 HILTH A hINIT |

84. (a) U RGAMT Th 7 cm ST % WP o AWK &1 & Sl GHE BSAT 6 Th
AT W ARG 8 | 39 faaH Hl Fd S918 31 cm & | 369 FaaiH &1
IR SA%A [T ShIT |

AYAT

(b) ARl o Tsh 3T g9 & Ik R T Teh FAYMAT Gieh Hehled W
THE! hl Th & sHIg WAl g | I¢ dad hl Sa13 15 cm IR I8H
YR I AT 42 cm B, A 39 TR T8 9%g H ol TR &A% Aq@

£ |

F

15-430/5/2 Page 16
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SECTION D

4x5=20

32. A fraction becomes %, if 2 is added to the numerator and 1 is added to
the denominator. If 2 is subtracted from the numerator and 1 is
subtracted from the denominator, it becomes é Find the fraction.

33. The following table shows the ages of the patients admitted in a hospital
during a year :

Age (inyears) | 5-15 | 15-25 | 25-35 | 35—-45|45-55| 55 -65
Number of 6 11 21 23 14 5
patients
Find the median of the above given data.
34. (a) A toy is in the form of a cone of radius 7 cm mounted on a
hemisphere of same radius. The total height of the toy is 31 cm.
Find the surface area of the toy.
OR
(b) A wooden article was made by scooping out a hemisphere from
each end of a solid cylinder. If the height of the cylinder is 15 c¢cm
and its base is of radius 42 c¢cm, then find the total surface area of
the article.
15-430/5/2 P.T.O.
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85. (a) TUs B ABC &l Y9U AB, BC d9T HIEd AD Uéh 3= Bl PQR
I HE: Y3 PQ, QR AT HIfeyshl PM % THIIUNT & | GISY foh
AABC~APQRZ |

HAAT
(b) Toag e for afe foret Bye 6w YT & TOTR 1= @ YSmRA i
i fomgatl W ufd=aed * & fau s @ = S, @ 1= 3
SIS T & AuTd § faurfoa gt & |
wus &
59 G@UE H 3 JHU 7T JTINRT 97 & 578 Jcdb & 4 3% & | Ix4=12
ThI0T YT - 1
36. gHA I HI 7 Ueh A5 Sl sl M YE hl | S[dI I FGRI H o (oY e
ugell dfth H 3 SISt [d W, gEd Uitk H 5 SISl S[d W, ded gfth § 7 Sl Sd
W g |

SOCIAL MEDIA TEMPLATE

3T ISR o 3MuR R, Fefafea geai & 3w G .

(i) B3 Uk H Tohad SISl 9d W@ & ? 1
(i)  vgeh R B ufwal § W Sl i gl H fopaT 3T 7 2 1
(i) (a) Q@ HINC Tgell 15 dRrdl § P foha-1 Sl bl AlteAT W T8

g | 2

AYAT
(b) AR =AMt afh H YGRM @i sl T Sel T 500 i HiFd T
“forsht W foran B, @t 3a hifste o6 goa <t af o frat gty
Ha7 ot Afg 98 A= forn S fop <eft uftd § Wl S f ot

e v

Sfeat foes Sl 2 | 2

15-430/5/2 Page 18




35. (a)

(b)

E4E
(e
Sides AB, BC and median AD of A ABC are respectively
proportional to sides PQ, QR and median PM of A PQR. Show that
A ABC ~ A PQR.
OR
Prove that if a line is drawn parallel to one side of a triangle to
intersect the other two sides at distinct points, then the other two
sides are divided in the same ratio.

SECTION E

This section comprises 3 case study based questions of 4 marks each. 3x4=12

Case Study -1

36. Sumant’s mother started a new shoe shop. To display the shoes, she put

3 pairs of shoes in the 15t row, 5 pairs in the 224 row, 7 pairs in the 3rd
row and so on.

SOCTIAL MEDIA TEMPLATE

Based on the above information, answer the following questions :

1)
(i1)

(iii)

15-430/5/2

How many pairs of shoes are displayed in the 6t row ? 1
What is the difference of pairs of shoes in the 15t row and the
6th row ? 1
(a)  Find the total number of pairs of shoes displayed in the first
15 rows. 2
OR

(b)  If the pairs of shoes displayed in the 4t row are ‘on sale’ at
price of ¥ 500 for each pair, then find the total amount

(money) earned by Sumant’s mother if all shoes displayed in
the 4t row are sold out. 2

Page 19 P.T.O.
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ThT AETAT - 2

37. ITHI-TH HaTE o & @FH THAA SHH W 3R 40 m FH gl W @S 7 | M
QU TAF TH b ST Y gE @H o A1 T I ORI gRI HER fean s
2 | T WA (coupling) ! g C W @1 T 2, F&l ql AR i Hd & (ST
3R W fe@mT T 3) |

60° 30°
P
«—40m—

3T AN o YR W, Fafafad get & 3w G
(i)  @H AB I FH9% A HINT |
(i) @Y PQ I JATE I hifo |
(i) (a) A @Y PQ R &I, @H AB % TG ¥, I &I 30° 2,
dl g8t BQ S I |
3rera

(b) I JHF (coupling) FHH & 20 m I =T W B, a1 DI @H AB
Y R % wy-ay oA fopall gt W g ?

15-430/5/2 Page 20
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Case Study - 2

Two poles of different heights stand on level ground and at a distance of
40 m. Both poles are supported by wires attached from the top of each
pole to the bottom of the other. A coupling is placed at point C, where the

two wires cross (as shown in the figure).

60° 30°
«—40m———>

P

Based on the above information, answer the following questions :
1) Find the height of pole AB.
(ii))  Find the height of pole PQ.

(iii) (a) If the angle of elevation of the top of the pole PQ from the
top of the pole AB is 30°, find the distance BQ.

OR

(b)  If the coupling is at a height of 20 m from the ground, how
far down the wire from the smaller pole AB is the coupling ?



[=15=1
[ClES

Th0T 3ETIAT - 3

388. URIW Qg7 : TA % T Td H Ig 41 T Toh 39 99 & U, TI® TS
3R U 51% UNEW | his o= a1 AT, 20% URE § U o=, 19% IRari
T g o=, 7% INa H o1 9= 3T 3% INa § =9/ 91 31fees o= o |

Tsh INER ITgosal I AT & |
ITh SAFH o YR T, Fferiad Tt o I i

(i) 9 TC UNER H @ A1 A9 ST b FiF ol JTRIhAl [T hiteg |
(i) g4 T YNGR H T ¥ 3Tfeeh <A1 o B ohl JTRIShAT 1A hiT |
(ifi) (a) g4 TCUNGR B fF & T T b g hl JTRIHdAT [T HIT |

HAAAT

(b) I 7T URER H 3 § AMUH TAT o g I ITRIRAT J1d hiTC |

15-430/5/2 Page 22
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Case Study - 3

38. Family structure : In a recent survey of this year, 51% of the families in
the United States of America had no children, 20% had one child, 19%
had two children, 7% had three children and 3% had four or more
children.

A family is selected at random.
Based on the above information, answer the following questions :

(1) Find the probability that the selected family has two or three

children.
(i1) Find the probability that the selected family has more than one
child.
(iii)) (a) Find the probability that the selected family has less than
three children.

OR

(b)  Find the probability that the selected family has more than
two children.
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Secondary School Examination, 2024
SUBJECT NAME MATHEMATICS (BASIC) (Q.P. CODE 430/5/2)

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, evaluation done and several other aspects. Its leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc. may invite action
under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating, answers
which are based on latest information or knowledge and/or are innovative, they may
be assessed for their correctness otherwise and due marks be awarded to them. In
class-X, while evaluating two competency-based questions, please try to understand
given answer and even if reply is not from marking scheme but correct competency
is enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers.

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks
should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be zero
after deliberation and discussion. The remaining answer books meant for evaluation shall
be given only after ensuring that there is no significant variation in the marking of individual
evaluators.

Evaluators will mark(v’) wherever answer is correct. For wrong answer CROSS ‘X” be
marked. Evaluators will not put right (¢ ) while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note “Extra Question”.

10

No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

430/5/2
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11

A full scale of marks (0-80) (example 0 to 80/70/60/50/40/30 marks as given in Question
Paper) has to be used. Please do not hesitate to award full marks if the answer deserves it.

12

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Guidelines).This is in view of the reduced
syllabus and number of questions in question paper.

13

Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14

While evaluating the answer books if the answer is found to be totally incorrect, it should be
marked as cross (X) and awarded zero (0O)Marks.

15

Any unassessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all concerned,
it is again reiterated that the instructions be followed meticulously and judiciously.

16

The Examiners should acquaint themselves with the guidelines given in the “Guidelines for
spot Evaluation” before starting the actual evaluation.

17

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

18

The candidates are entitled to obtain photocopy of the Answer Book on request on payment
of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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Set 430/5/2
This section comprises Multiple Choice Questions (MCQ) of one mark each.

SECTION A 20 x 1=20
1. A tree casts a shadow 7 m long on the ground, when the angle of
elevation of the Sun is 45°. The height of the tree is :
(A)  7V3m (B) %ﬁ m
(C) Tm (D) 35m
Ansl. (C) 7m 1
2. The length of an arc of a circle with radius 12 cm is 107 em. The central

angle subtended by this arc at the centre, is :

(A 120° (B) 6°
(C)  75° (D)  150°
Ans2. (D) 1500 1

3. In the given figure, in A ABC, DE || BC. If AD = 2x cm, AE = (x + 2) cm,
DB =4 em, EC = 3 cm, then the value of x 1s :

(A 3 2
C) 6 (D) 4
Ans3. (D) 4 1

4, HCF x LCM for the numbers 40 and 30 is :

(A) 12 (B) 120
(C) 1200 (D) 40
Ans4. (C) 1200 1
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5. It is given that A ABC ~ADEF.If £/ A=55° /E =45°then £ Cis:

(A) 80° (B) 90°
(C) 55° (D) 45°
Ans5. (A) 800 1

6. If the angle between the two radii of a circle is 130°, then the angle

between the tangents at the ends of these radii, is :

(A)  50° (B) 60°
(C) 90° (D)  130°
Ansé6. (A) 500 1

7. If sinZ0 = %, then the value of tan? 0 is:

1
A) — (B) 3
J3
(C) 0 D) 1
Ans7. (D)1 1

8. If the difference of mode and median of a data is 24, then the difference of

median and mean of the same data is :

(A) 8 (B) 12
(C) 24 (D) 34
Ans8. (B) 12 1
9. The area of a quadrant of a circle whose circumference is 22 cm, is :
(A) 11 cm? (B) 1 cm?
4 2
(C) 33 cm? (D) i cm?
4 8
Ans9. (D) % cm? 1
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10. The mid-point of the line segment AB joining A(— 2, 8) and B(- 6, 4) is :

(A (2,6) (B) (—4,12)
(C) (=4,6) (D) (4,-6)
Ans10. (C) (—4, 6) 1

11. AP and AQ are tangents drawn from an external point A to a circle with
centre O and inclined to each other at an angle of 90°. If the length of

each tangent is 2 cm, then the radius of the circle is :

(A) 4 cm (B) 2 cm
(C) 242 em (D) lem
Ans11. (B) 2cm 1

12. The pair of linear equations 2kx + 5y = 7, 6x + 5y = 11 have a unique

solution, if

(A) k=3 B k#-3
@) k= % D) k#- %
Ans12. (A) k #3 1

13. If x is a whole number, then 8% ends with an even digit, except for which
value of x ?

(A) 6 (B) 4
(C) 2 (D) 0
Ans13.(D) 0 1
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14. 52 - 52 is equal to :
cot®®  cos“H

A 1
(C) -5
Ans14. (C) =5

15. The discriminant of the quadratic equation x?—4x+3 =0 is:

(A) 28
C) 4
Ans15. (C) 4

16. A bag has 4 red balls and 2 yellow balls. A ball is drawn at random from
the bag without looking into the bag. What is the probability of getting a

yellow ball ?
1
A =
(A) 5
1
C -
C) 3

Ans16.(C) 3

17. The roots of the quadratic equation x2 + 3x + 2= 0, are:

A -1,-2
Cc 1,-2
Ans17.(A) -1,-2

18. Prime factorisation of 882 is :
(A)  22x32x7

(C) 2x82x72
Ans18. (C) 2 x3% x 72

430/5/2

(B)

(B)

(D)

2
3

1

(B)
(D)

(B)

(D)

-8

2

1,2
-1,2

23 % 3 x 72

22 % 33 x 17
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Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given belotv.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : Common difference of the A.P. 5,1,—-3, -7 ....1is 4.

Reason (R):  Common difference of the A.P. a,, a,, a5 ..., a is obtained
by d = ap~8n-1-
Ans19. (D) Assertion(A) is false, but Reason (R) is true 1

20. Assertion (A) : The probability of getting number 8 on rolling a die is

zero (0).

Reason (R):  The probability of an impossible event is zero (0).

Ans20. (A) Both Assertion(A) and Reason(R) are true, and Reason(R) is correct
explanation of Assertion(A). 1
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SECTION B

This section comprises Very Short Answer (VSA) type questions of 2 marks
each. 5x2=10

-
21. If % is a root of the quadratic equation x2 + kx — % = 0, then find the

value of k.

Sol.21. % is a root of quadratic equation x% + kx - z =0

) :
Tt -c=0=5=1 1
k=2 %

22. Evaluate : tan? 30° — tan? 60° + cosec? 45°

Sol.22. tan? 30° - tan? 60° + cosec? 45°
2 2 2
=(5) -0+ (@)

T3

N | =
+

N RN
N | =

23. The length of a tangent drawn to a circle from a point A, at a distance of

10 em from the centre of the circle, is 6 em. Find the radius of the circle.
Sol.23.  Radius of circle

=102- 62 1
=8cm 1

24. (a) If o, B are zeroes of the quadratic polynomial 2x? + 7x + 5, then

find the value of o2 + B2 + ap.
OR

(b)  If one zero of the quadratic polynomial 6x2 + 37x — (p — 2) is
reciprocal of the other, then find the value of p.

Sol.24. (a) As a, B are zeroes of 2x% + Tx + 5
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atp=—, =§ 1
o + 2+ ap = (o + )% — op
-\% 5 _ 39
=(3) —3=% !
OR

(b) Letp&x) =6x2+37x—(p—-2),a=6,b=37,c=—(p—2)

a, %be zeroes of p(x) %
a a 6
1=22
p=- 2

25. (a) Find the ratio in which the point (3, y), divides the line segment
joining the points (- 2, = 5) and (6, 3). Also, find the value of y.

OR

(b)  Find a point on y-axis which is equidistant from the points A(6, 5)

and B(- 4, 3).
Sol.25. (a) Let P (3, y) divides the given line segment in the ratio k : 1
_ek+(1)(-2) _ k(3)+1(-5) .
0T T YT T kA
3k+3=6k—-2 = 5=3k
5 _ 11
k= E =>y= 0 E + E
o ratiois 513
OR
(b)  Let point on y-axis be P(0, y) ;
PA = PB = PA? = PB?
0-6)2+(y-52=0+42+(y—3)? 1
36+y2—10y+25=16+y2—6y+9
y=9 -

. point P(0, 9)
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SECTION C

This section comprises Short Answer (SA) type questions of 3 marks each. 6x3=18

26. (a) Prove that the parallelogram circumscribing a circle is a rhombus.

OR

(b)  Prove that the lengths of the tangents drawn from an external

point to a circle are equal.

Sol.26. (a)Let ABCD be a parallelogram touching the circle at P, Q, Rand S i for Fig.
To prove: ABCD is a rhombus.
Proof: We know that tangents drawn from the D
external point to the circle are equal.
. AP =AS - (D)
PB = BQ - (ii)
CR=CQ - (iii)
DR =DS - (iv) 1
Adding (i), (ii), (iii) and (iv)
AP +PB + CR+ DR =AS +BQ+ CQ + DS ;
= AB+ CD =AD + BC V)
Now AB = CD and AD = BC (Opposite sides of parallelogram)
From (v), we get AB + AB = AD + AD ;
= 2AB=2AD
= AB=AD i
Hence ABCD is a rhombus.
OR
(b) Given PA and PB are tangents drawn
from the external point P to the circle % for Fig.
with centre O.
To prove: PA = PB
Construction: Join OA, OB and OP %
Proof: In A AOP and A BOP
OA = OB (radii)
OP = OP (common)
2 OAP = Z OBP (each 90° as radius L tangent) 1
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.. AAOP = A BOP (RHS cong.)
= PA=PB (cp.ct)

N =N =

27. (a) A horse is tied with a 14 m long rope at one corner of an
equilateral triangular field having side 20 m. Find the area of the

field where the horse cannot graze.

OR

(b)  The length of the minute hand of a clock is 14 em. Find the area

swept by the minute hand between 8:00 am and 8:05 am.

Sol.27. (a) Side of equilateral triangle = 20 m
Length of rope = 14 m

6 = 60°

N |-

2
Area grazed by horse = = o

360°
=20 2 x14x14=22m20r 102 67 m?
360 7 3
Area of A = =100v3 mZor 173 m2

Required area = (100+/3 — 102 67) m2 or 70 -33 m?

V3x400

N | =
NIRN |~

OR

(b)  Angle swept by minute hand in 60 minutes = 360°
Angle swept by minute hand in 5 minutes = 30° 1

r=14 cm

nr2e 30° 22
Area swept = = X=X 14 x 14
360° 5.160" 7
1
=5 cm? or 51.33 cm?

N | =
NI

28. Find the coordinates of the points of trisection of the line segment joining

the points A(5, — 3) and B(- 4, 3).

Sol.28. Let P and Q divide the line segment joining A(5, - 3) and B(- 4, 3) in
three equal parts such that AP: PB=1:2

P(1><—4+2><5 1><3+2><—3) 1 n 1
1+2 '’ 1+2 % 2
i.e., P(Z, - 1) E
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AQ:QB=2:1
2x-4 +1x5 2x3 + 1x-3
Q( 2+1 ! 2+1 )

ie,Q(-1,1)

N[RNIR
N =

29. Prove that 3-2+5 is an irrational number, given that /5 is an

irrational number.

Sol.29. Let us assume that 3 - 2v/5 is a rational number.
- 3-2V5=x, say
= V5= 321

3-x. .
— isa rational number.

= V5 is a rational number.

But this contradicts the fact that v/5 is an irrational number.
.. our supposition is wrong.

— 3 -2+/5isan irrational number.

30. Prove that: (cosec 0 —sin 0) (sec O — cos 0) = 1

S01.30. LHS = (,L- sin e) (CL- cos e)

sin 6 0s 0

_ (1—sin2 9) (1—cos2 6)
- sin 6 cos O
cos? 9 sin? 0

=—— X——=1c0s0sinH
sin 6 cos O
cos 0sin 6 cos 0sin®
B 1 " sin20 + cos20
1

sin® = cos®6
cos®  sin©

" tanB+cot0

tan 0 + cot O

N |-

N =

31. Find the zeroes of the quadratic polynomial 6x% — 7x — 3 and verify the

relationship between the zeroes and the coefficients of the polynomial.

Sol.31. Let p(x) = 6x% - 7x - 3

=(2x-3)(3x+1)

3 -

.. zeroes of p(x) are >3
3 1 7  -Coeffofx

Sum ofzeroes=---=-=————
2 3 6 Coeffofx?

430/5/2 12
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3 -1 -1 -3 constant term 1
Product of zeroes = E X (?) = 7 = ? = W E
Hence verified.
SECTION D
This section comprises Long Answer (LA) type questions of 5 marks each. 4x5=20
32. A fraction becomes %, if 2 is added to the numerator and 1 is added to
the denominator. If 2 is subtracted from the numerator and 1 is
subtracted from the denominator, it becomes é Find the fraction.
Sol.32. Let the fraction be § %
x+2 3
ATQ, 11 1
=4x-3y=-5 (i) .
Also, xz_1 1
y-1 2
2x-y=3 (ii) ;
Solving (i) and (ii) to get
y=1landx=7 1
fraction is — 1
= 11 2
33. The following table shows the ages of the patients admitted in a hospital
during a year :
Age(inyears) | 5-15 | 15-25 | 25-35 |35—-45|45-55| 55-65
Number of
Hmbero 6 11 21 23 14 5
patients
Find the median of the above given data.
Sol.33.
Age (in years) |Frequency|Cf
5-15 6 6
15 —-25 11 17 2for table
25 -35 21 38
35 —45 23 61
45 — 55 14 75
55 — 65 5 80
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=20_40

N
2 2
cf=38,f=23,h=10,/=35 1
(F-<r)
Median = ]+ZTX h
(40 - 38)

=35+—>x10
23

=35+ 2 = 35.87
23

Note: No marks to be deducted in case student substitutes the values correctly
in the formula without writing values of ] cf, etc.

[N
N =

N | =

34. (a) A toy is in the form of a cone of radius 7 em mounted on a
hemisphere of same radius. The total height of the toy is 31 cm.
Find the surface area of the toy.

OR

(b) A wooden article was made by scooping out a hemisphere from
each end of a solid cylinder. If the height of the cylinder is 15 cm

and its base is of radius 4-2 c¢m, then find the total surface area of

the article.

Sol.34. (a)Radius of cone = Radius of hemisphere T' = 7 cm
Total height of toy = 31 cm
.. height ofcone=31-7 =24 cm 1

Slant height /= Vr? + h?

= J(7)? + (24)?

=25cm
Total surface area of toy = CSA of hemisphere + CSA of cone

= 2nr? + ar/= nr(2r + 1)

N[
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=27 x (14 + 25) 2

=22x%39
= 858 cm? -
OR
(b) Height of cylinder = 15 cm
Radius of cylinder = Radius of hemisphere = 4:2 cm 1
Total surface area = CSA of cylinder + CSA of 2 hemispheres 1
= 2nrh + 4nr?
= 2nr(h + 2r)
=2X2x42(15+2%x42) 2
=2 X2 X 42X 234 =617.76 cm? 1

35. (a) Sides AB, BC and median AD of A ABC are respectively
proportional to sides PQ, QR and median PM of A PQR. Show that
A ABC ~ A PQR.
OR
(b)  Prove that if a line is drawn parallel to one side of a triangle to
intersect the other two sides at distinct points, then the other two
sides are divided in the same ratio.

Sol.35

/

£

1 :
4 M R 2 for Fig.

(a) Given: In A ABC and A PQR,
AB _BC _AD where AD, PM are medians. 1
PQ QR PM
To prove: A ABC ~ APQR
Proof: In A ABC and A PQR
AB %BC __AD
PQ  Ilor~ PM

AB _BD _ AD
PQ QM PM
= A ABD ~ A PQM (SSS similarity)

—/B=/Q

NI=RN][RP
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In A ABC and A PQR,
=— (leen)

ﬂ
PQ QR

Z B = 2/Q (Proved above)

.. AABC ~ A PQR (SAS similarity)

(b)  Given: In A ABC, DE || BC

To Prove:

Construction: Join BE, DC

DB

AE
EC

Draw DM L ACand EN L AB
Proof:
ar(AADE) %XADXEN
ar(ABDE) XDBXEN
ar(AADE) _ AD
ar(ABDE) DB
d ar(AADE) %XAEXDM
an ar(ACDE) %XECXDM
ar(AADE) _ AE
ar(ACDE) - E

OR

M

(ii)

1 .
> for Fig.

1

A BDE and A CDE are on the same base DE and between the same parallels DE and BC.
(iii)

.. ar (ABDE) = ar (A CDE)
From (i), (ii) and (iii)
AD _ AE

DB EC

SECTION E
This section comprises 3 case study based questions of 4 marks each.

Case Study -1

1

1
2

3x4=12

36. Sumant’s mother started a new shoe shop. To display the shoes, she put

3 pairs of shoes in the 15t row, 5 pairs in the 224 row, 7 pairs in the 3
row and so on.

430/5/2
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SOCIAL MEDIA TEMPLATE

Based on the above information, answer the following questions :

(1) How many pairs of shoes are displayed in the 6 row ? 1
(ii) What is the difference of pairs of shoes in the 15' row and the
6th row ? 1
(iii) (a)  Find the total number of pairs of shoes displayed in the first
15 rows. 2
OR

(b)  If the pairs of shoes displayed in the 4t row are ‘on sale’ at
price of ¥ 500 for each pair, then find the total amount

(money) earned by Sumant’s mother if all shoes displayed in
the 4th row are sold out. 2

Sol.36.(1) a=3,d=2 %
Pair of shoes in 6% row = 3 + (5)2=13 %
(ii) Difference of pair of shoes in 6™ and 15t row =13 -3 =10 1
(iii)(a) n=15
Total pair of shoes in 15 rows = g [2a+ (n-1)d]
=2[2x3+14x 2] 1
=22 x 34 =255 1

OR
(iii) (b)Pair of shoes in 4P row=34+6=9
Money earned = 500 X 9 =" 4500
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37.

430/5/2

Two poles of different heights stand on level ground and at a distance of
40 m. Both poles are supported by wires attached from the top of each
pole to the bottom of the other. A coupling is placed at point C, where the

two wires cross (as shown in the figure).

60° 30°
«— 40 m—>

P

Based on the above information, answer the following questions :
(1) Find the height of pole AB. 1
(i1)  Find the height of pole PQ. 1

(111) (a)  If the angle of elevation of the top of the pole PQ from the
top of the pole AB is 30°, find the distance BQ. 2

OR
(b)  If the coupling is at a height of 20 m from the ground, how

far down the wire from the smaller pole AB is the coupling ? 2
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Sol.37. (i) In right A ABP,
tan 30° =22
AP

1 _4B _ 40 _ 40V3
V3 40 :>AB—\/§— m

(ii) In right A APQ,
tan 60° =2
I
V3= =PQ=40V3m

(iii) (@) In A BQM,
cos 30° = EM

BQ
V3 _ 40
2 BQ
_ 80 _80%3
BQ_\/§_ 3
OR
(iii) (b) CD =20 m
In right A ACD, sin 60° = %
B2 pc=R_0E,
2 AC V3 3

Note: In case students find BC correctly, full marks may be awarded.

N = N]|R

NIRrN |-

38. Family structure : In a recent survey of this year, 51% of the families in
the United States of America had no children, 20% had one child, 19%
had two children, 7% had three children and 3% had four or more

children.

430/5/2
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A family is selected at random.
Based on the above information, answer the following questions :

) Find the probability that the selected family has two or three
children.

(i1)  Find the probability that the selected family has more than one
child.

(iii) (a) Find the probability that the selected family has less than
three children.

OR

(b)  Find the probability that the selected family has more than
two children.

Sol.38. (i) P(2 or 3 children) = -’

100
26 13
=—0r—
100 50

(i) P(more than one child) = —2~*2

100
_2
100
(iii) (a) P(less than 3 children) = =222
_90 9
=100 1o
OR
(iii) (b) P(more than 2 children) = -
-1
10
430/5/2 20
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